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Subtract using subtraction properties,

55-1= 54 - | =37 461~ 45
87-0=_87._ 88 -88= O | 2Y -1=33
63-..0. .. =63 q0 ~0=090 25— 58 =0
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| With help from your teacher, circle the words used for addition in biue. Circle
~ the words used for subtraction in green.

thal . Sum S ow mam/ left ©
\ _ Difference Jnall Minus
"CarIy o '.‘Bdkrroyv;‘, | _;-Ho"w many mb@;
\ Can you write» a sentence each to show addition and subtraction? |
SUBTRACTING 2-DIGIT NUMBERS
WITH REGROUPING

Let us recall subtraction with regrouping.

In a parking area, there are 73 bicycles and 49 cars. By how
many are the bicycles more than the cars?
Subtract 49 from 73.
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Step 1:
Compare the numbers
under ones.

3=,

9 cannot be subtracted

Step 2:
Regroup 73.

73 =7 tens + 3 ones
+

=6 tens + 1 ten + 3 ones

= 6 tens 4+ 10 ones + 3 ones

= 0 tens + 13 ones



